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(a) During a soccer match a player runs from 4 to B and then from B to C as shown in the diagram.

AB =40m, BC=45mand AC=70m.

(i) Show by calculation that angle BAC = 37°, correct to the nearest degree.
(ii) The bearing of C from 4 is 051°. Find the bearing of B from 4.
(lii) Calculate the area of triangle ABC.

(b) x- and y-axes are shown in the diagram.

AC = (p] , where p and g are measured in meres.
q

(i Show that p = 54.4.
(i) Find the value of g.
(¢) Another player is standing at D.

BC =45 m, angle BCD = 54° and angle DBC'= 32°,
Calculate the length of BD.
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